bt et . J.:»wg:awfﬁe Bt ﬁ*C%JH‘M s “ﬁﬂﬁ‘“‘* ;

:ﬁ,‘

- @‘mﬁtl‘m}u‘l« = Npw owill Ll e zﬁief:f?nm%é‘@s? 9,
TR w"ﬂ'ﬂ“‘ﬂ-‘:‘)&n ) 3 . ‘ B ] B . iy
ﬂg\g‘ 'ax}i }i\ ?g\ ‘

 Lhgae i "%‘%w | Sifmi___ %f‘ig ﬁf‘w@@f\%’w

w%i"*ﬁ’i gi—éq‘?«; e

:.a_m ARSI S .=.._g._. g e Lt

o edaluate’ |

) éslsz'

0]

"

o3y xgmfﬂf@gg T

a5

-

o | Th
R

S 9\@ Mﬂf \g{e@\ﬁw @ax Ay

X —mmn&:b

e
5:3’ 9?;%; z:z»l {gs? ¥ obx Ay
dx

gg’k‘x L

SO 3

%M %%;&

?am .

fi‘ &, ’{;‘Jﬂ waﬂ o8 %;«a.éa: m%ﬂ

) b‘?@ef‘éﬂ%n@c&s&. %@AQ\F« Mm { L@ “544;, '@&m%‘%

%z&;wa% Wi‘ﬂa\ ‘ff,

B;QW“’?

‘*‘%f@

: _ T
e ,,{’ﬂgsﬁam“%‘ . ?ﬁﬁgfgﬁlﬁ‘ﬂ%ﬂ |

z\__l
AY

v

pss



o
a4,

AT
T T T TR AT
n,
LY
3
K

oy TR




o Y

- ?.;Lmﬂasx AN gows i}l e L]

1

QMK@@ i?;a_f‘ ok

Solvg.: pelulad

Ly
i

- Mww e:m“%‘

f3 2l %

- _‘f:a léﬁj%‘%”}% K

4

it lay

B Aagt

& : o
B T




Nty

a\) A éﬁ?\ibu,)-jﬂa%'! S m@ slwé _a‘.{ i‘@A ﬁf
: r ”“’!’5 Y X(P /ﬁf’c&& é\,r\u -T "‘é\“\*& [& “M»@

B _,C,\%q;&‘%\ -@r—%n '>-j : « t" _J;; WBE }F? ESEM)LQ . Q}Eﬂ;@gq} ,ﬁﬁ E‘? . !g",S o : it

_EL&,kémﬁgé@if

KME 43?“ SR T ' n
AR d%m;s;wgﬂw;?wﬁ #wﬁiﬁ“Aw:,a
[ S R IS R N o dE
- Aeiuen w .2 w/;\f

0
e
E
m.tl
i
e_:,

: %J : i ‘ : ‘ ;
ﬁ%e%:;::.;;‘f
""ﬁ““

T
y&n—




1

o by S e
CUat 13 (% mm :RMM Kades
ninst e sM% &fgﬁg

_{jﬁ%"m%ﬁo E‘é ﬁ’ i?) @‘3' i«cijciu{ é”’m &
| *‘;e:: - aéiﬁqg@v i % &Bzaw wmﬁ?: ?1;5 __ ﬁﬁ*m @% st

A% o mkf* ot 4 %%i”‘*"‘& ‘ éﬁ *gm*"?“ w; Cyeda
b 5P ﬁ;" e 5'&‘*@&“ e e wﬁg{ s Mo wall
:,,,_U‘»w\h éf“te bate V3 b £} RRTITN % s i -

“Q%,

o de

@Lw a ﬁi IR I é?(/k dx ey dly | ey
é‘”“ﬁ@“*r 9!‘3% = 3%55@’ X o
- . @5% e i 0

Q‘E B bellaon - nisa b*"3‘3"*“%"“”v*y“/ - &% . Mi«ﬁ ot o ?‘%iﬁ’ Jﬁ ﬁ@g‘j@@‘"ﬁ
Wt j“‘%a*a; ’H?L  ba i;ifw.aé"“ G’&Si’éfwj :

b @\,@ gfgum&& L4 f’mjmf
ﬁ% iwej)%’ﬁg'q m%@, i L-.S, '_‘THQE@,, Lis "iémbsi@—m g“?v’g“f“y@wx ____'-1,,,,-1\3:35&‘#@5? ”’iﬁ@f% =
§€?@ %f} e}f £ e Aeﬁwww

%JL %‘\o c;:%@'f‘% Lk%’:\gmg; f?; eﬂa}‘wn %ﬁ‘{a @}aﬁg@ﬁﬂ, W’

: H : g e e
Iﬁ‘ 53 T?-'\m

e s

e et

T ¥

PR U ”:jﬁwﬁzﬁ R
Voo dydy e de de
' fa%& f%’&*

5 ;zzs@as zw:) K iwm%, de | de

: "‘;?N.' i i
g -iv:";’a.."'ﬁa-z\ j

e i ;
RN S f y L
K "‘} - - .. s T T T T e g s T T
& m\cﬂ*"wﬂ"‘ﬁ e :

_ “\}‘uﬁﬂ‘} E »E?%A’ o | | R R
I _ ! . f;

74

F"",}'

| I S
(e c‘}k\s ] 7Y SO 1. ,

M



Y r\!
!
i

/Dr} 4 }‘/ ”3 &

S,
=y A - e

PRoA ’hg = e R, g R
R Wn:r;“ ot RE I ¢ E

A Y A
Whag 'y b

iy

ﬂ’l
"

sz

L

3}1;{ . el f

I ok

TQC 4) /1%} I 5 ke ‘* Jdr

AL L 1o

[L'A l:_; \ &f’"




| ‘ A o | P % e : : o
t{jﬁ\ﬂ;% Eé‘ @ﬂ#? ‘ﬁi:}‘% “” . A"i%&%’%ﬁi J@Qé"@;ﬁ S } IR Y

1. A cylindrical tank with a radius of 5 ft and a height of 20 ft is filled with a liquid. A holeis
- punched in the bottom. At that moment the chemical drains out of the tank at the rate of
2 cubic feet per minute, At what rate is the height of the liquid in the tank changing?

db  gewm

. % ﬂ . w 9 @:ngfz &gé%&é“?g% @%

2. Sand falling at a rate of 3 cubic feet per minute forms a conical pile whose radius élways o
equals twice its height. Find the rate at which the height is changing at the instant the
height is 10 feet.




"~ Dimiler 1 w\)‘@_%ié%,

rﬁi,;w& g&agm@ {@}w %éﬂ M
ihi é&é{“ wg@ﬁ Ajg

i “ﬁg@ﬂ _i__w@e@ @ﬁgﬁ _
DR S I ﬁﬁwﬁ ey ‘

T T T
2 e i e e o

e Y

e

Ny




